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[(FSv i)
053 SRS cEA EH FiR (=Rl A HH—F
1 10:00 80mH R IN5-65 5
2 10:05 80mH R INS -6 4
3 10:20 100m R h 358 8
4 10:25 100m R h3%& 3
5 10:30 100m R h258 9 2—3F3LLL—R
6 10:40 100m R h2% 3
7 10:45 100m R b1 58 14 2—3(4LL—R
8 10:55 100m R th1%4 10 2—3ALL—X
9 11:05 100m ¥ NGB 31 4—~RZXk8
10 11:15 100m ¥ INGET 24 4—~RZXk8
11 11:25 100m Bid NG 17 3—~_RZX8
12 11:35 100m ¥ INSET 15 2—~RZXK8
13 11:40 100m ¥ INE: 23 4—~RZX8
14 11:50 100m ¥ INZT 14 2—~RZ8
15 11:55 100m ¥ INSE 12 2—~RZk8
16 12:00 100m ¥ IN3E 19 3—~RX8
17 12:10 50m ¥ IN2ER 12 2—~RZ8
18 12:15 50m ¥ IN2ET 11 2—~RZXk8
19 12:30 JER4 X 100mR Bid INB%& 13 2—~RZ|8
20 12:40 800m R INE B 25 2—3(4LL—X
21 12:50 800m R INEZ 19 2—RALL—R
22 13:20 100m R NGE: 8
23 13:25 100m R INGZT 8
24 13:30 100m R INS BB 8
25 13:35 100m R INS % 8
26 13:40 100m R INA BB 8
25 13:45 100m R N %L 8
27 13:50 100m R INSEB 8
28 13:55 100m R IN3 % 8
29 14:00 50m R IN2ER 8
30 14:05 50m R N 8
31 14:30 4x100mR R INE B 8
32 14:35 4 x100mR R INEZL 8
33 14:40 B4 x 100mR R INEEZ 8
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BFE SRS cEA ZH FiR =Rl A
1 10:10 =Bk R ING-6HE % 8
2 10:30 E Nz Bk R ING-64E B 13
3 10:30 DRy =% R ING-6FEHR 13
4 11:20 Tk R ING-64 B 6
5 11:20 DRy ok - % R INS -G 6
6 13:00 AR Bk R ING-BEZL 12







